Cure All

Dr. Livingston, we’ve done it!!!!  We have found the cure to the common cold. You, being the computer specialist for Hill’s Pharmacy are instructed to create a spreadsheet that exactly calculates the correct dosage of CURE-ALL, the wonder medicine that cures the common cold. CURE-ALL is composed of two parts. The ALL solution(water) is the base solution needed so the medicine can effectively be absorbed into the body. The CURE solution is the secret ingredient that clears sinuses, headaches, runny nose and helps people with average math skills.

Create a spreadsheet that allows the pharmacist to input the following items:


Person’s age, weight, length of time with the cold, number of allergies 


the person has.

The pharmacist will then be able to see the following results:


The amount of CURE solution in milliliters


The amount of ALL solution in milliliters


The amount of both solutions mixed together in milliliters


The amount of both solutions mixed together converted to liters

At the bottom, a short prescription with the following:

Hill's Pharmacy
Please take with milk. Take only with Mr. Hill's permission.

A supply will cost :

$13.69
Charts

1. Create a Pie chart using Cure and All (in liters).

CURE: .0036ml times age and adding 1.725ml times length of cold and subtracting

             .008 times number of allergies.

ALL: .01ml times age and adding 2.73ml times weight and adding 5.3

Price(Cost): $27.35 per liter

Cure-All Check

Age: 25

Weight: 180

Number of Days with the cold: 2

Number of allergies: 4

Answers
Cure: 3.508

All: 496.95

Price: $13.69

There is no picture

Pythagorean Theorem

1. If the weight dropped from 180 to 160 (Y axis), and the number of allergies was 4 (X axis). What is the distance from those two points (Hypotenuse)
Formulas

1. Make a formula that show the amount of Cure as compared to Cure-All amount (show as a percent).
2. Make a formula that determines if the amount of Cure-All goes above $20 then a 15% discount is given. If the amount is not above $20 then the full amount is used.
3. Using the 15% discount above $20, at what amount of the price will you pay $20 (the same as if you were not allowed any discount)

